5-616 59 16 9
7
O
1
@ )
GA GB GC
2.88 | 2.59 | 2.56 | 2.64 | 2.84 2.84
66.3% | 69.0% | 62.4% | 56.9% | 57.0% | 57.8%
a 2.39 | 2.79 | 2.48 | 4.91 | 5.11 4.88
7.15% | 0.92% | 0.28% | 0.61% | 0.64% | 2.21%
W/P Km Kp p/v
0.205 0.225|0.64 0.89|3.95 6.08|0.43 0.52| 18%
( 5mmy)
1
3.16g/cm®
2.26g/cm? 2
2 Km)
( Kp) ( p/v) 1
1.00
( 1
~ 095
) §’090 i
: X X
0.85 X
X X
3) L X X
@ 10x 0.80 « X
20(cm) 2.6kg 4kg 120 o @® ©) )
0.70 o
065 o)
0.95 1.02 060 ‘ ‘
18% 0 10 20 30 /49 50 60
28
2
2 Km (75u m ) Km 0.78
40kg/m?
104-8518 8-1 () 03-6226-9073

-1229-




5-616 59 16 9

Km 0.78 40kg/m?
30%
3 Km y = -0.3671x + 0.4697
R? = 0.8825
Km 1 25%
1%
Km  0.03 Km 20%
0.78(3 ) Kp
15% |-
(%)=-0.3671x Km+0.4697 (R> 0.8825) 1
4 Km 0.70 Kp 10%
Kp ) 060 0.70 0.80 090
(Km)
1%
Kp 0.61 3 Km
(%)=-0.0164x Kp+0.2960 (R* 0.7093) 2 a0
i
y = -0.0164x + 0.296
R? = 0.7093
5 p/v 28 25 o
GA GB 3 4 O\m\@
D 4. AN/m? GA p/v 0.40 20% T o
GB p/v 0.33 5
DO =
GA T,,4=23.0x (p/v)-4.69 (R2 0.7369)
GB T=5.1x (p/v)+2.72 (R2 0.5463) 4 10%
3.00 4,00 5.00 6.00 7.00
(Kp)
6
18% W/P=20.5% Km=0.70 4 Kp
Kp=7.07( 4 ) p/v
€ )
4 5
7
1)JcI YESl_ o
2003 2)Jcl
7.0
28
1998 3) ~ 60k @@?(yé
~ @ E” ul
50 | - =
a
NO
40 1 p—e
o G
No.52 pp.798-803 1998 20 VR
5 035 040 045 050 055 060
(p7v)
2001
5 plv 28 6

-1230-




